WORD  MEANING   

1.
LEXICAL  AMBIGUITY

· more interpretations = possible for 1 word

· co-text + context helps to disambiguit

EXAMPLE:

She can’t bear children.

a) can’t give birth

b) can’t stand them

2.
MISMATCHES  of meaning

· words that don’t “suit” together

· poetry works with this method -> semantic no meaning

EXAMPLE:

Colourless green ideas sleep furiously.

a) colourless + green

b) ideas don’t sleep

3.
SEMANTIC  ROLES

= role that a NP plays in an event described by a sentence


   - certain words lead to various semantic roles


   - Problem:
 How many roles has a NP?




 (e.g. The chimney smoked.





      A + S -> smoke comes out from it!)


a) A
= Agent
  
-> performs an action (run, steal, eat …)

b) E
= Experiencer
-> cognitive action  (see, smell, hear …)


c) T
= Theme
  
-> no act itself (obj. or subject when be-form)

d) I
= Instrument  
-> used to carry out act


e) S
= Starting point
-> where act begins


f) G
= Ending point
-> where act ends  (give…)

g) L
= Location

-> place where action is

EXAMPLES:
Peter opened the safe with a key.





A

  T
     I





Peter was in the living room.  (Peter does not act!)




T
      L





William saw the train.





E                   T





William gave the bike to Linda.





A

  T            G





____________________________________________


- semantic roles remain same when the sentence is turned upside down


  -> syntactic function changes from active to passive (S->O/O->S)





Pat opened the safe with a key.





A                T           I





The key opened the safe.

The safe opened.




I                          T                      T
TEST:  a) Identify semantic roles in simple sentence.

    b) Compare semantic roles (no change!) + syntactic function

4.
WORDS  in  TEXT  CORPORA


CORPUS
= large collection of natural text (written/spoken) -> samples




   Content:
- frequency of word  + different word meaning





  -> different in academic prose + fiction ...





  (e.g. RIGHT: all right, quite right, right/wrong








     = most frequent use)






- collocation with other words






  (e.g. GREAT: deal, importance, number +

               majority = most common)






- association with other register





  (e.g. in the/these/such…circumstances =BR.E







under the/these…. circumstances = A.E)




   - a corpus = typically based on specific type of text




     Aim: be representative for examined text




   - concordance (Übereinstimmung) is searched -> patterns


EXAMPLE:
   What do Austrian students think of political parties?




   -> not everybody can be asked




   -> choice from each semester + any university town




       Result: representative of opinion


CORPUS  LINGUISTICS
= based on a wide collection of actually







   occurring language data + its analysis







   by computer

 
EXAMPLE:
a) COBUILD corpus
= Collins Birmingham University





                
   Internat. Language Database







      
   -> written + spoken




b) BNC


= British National Corpus




c) COCA


= Corpus Of American English




d) VOICE


= Vienna Oxford Int. Corpus Of E






   http://www.univie.ac.at/voice/
SENTENCE   MEANING

- we know the meaning of individual words +

  We know the rules to combine their meaning

LEXICON

= large but finite
-> core meanings are given

SENTENCES
= infinite number
-> meanings can’t be listened (aufgelistet)







-> meanings are compositional

EXAMPLE:

word meaning

vs.

sentence meaning




red large balloon 



red balloon










large balloon



sentence meaning

vs.

speaker meaning




= SEMANTIC



= PRAGMATIC




   -> abstracted from use


   -> use orientated




The place is closing.




S
= Information that a place is closing




P
= speaker wants people to go
1.
AMBIGUITY  of  a sentence

- more interpretations = possible for 1 sentence

- each meaning
=  PROPOSITION  (Vorschlag)


- truth value     
=  propositional -> content can be T or F


EXAMPLE:

Old men and women may enter.





a) old men
+ women





b) old men and (old) women

2.
SEMANTIC  RELATIONS   among sentences


a) PARAPHRASE
= 2 sentences have same proposition






   (e.g. Mary sold a car to Tom. 







 Tom bought a car from Mary.)


b) ENTAILMENT
= truth of 1 sentence implies truth of other sent.






   (e.g. Mr Sellers killed his wife.







 Mr Sellers’ wife is dead.)


c) CONTRADICTION
= if 1 sentence is true, other one is false






   (e.g. Mary is Mark’s wife.







 Mark is not married.)


d) PRESUPPOSITION
= certain knowledge we have about something 

   if sentence 1 = true, sentence 3 = false






   (e.g. She cried before she finished her work. T







 She finished her work.


    T







 She died before she finished her work.   F) 

